10 RiERAREOHS

_ (e : )
F Py = £ ik

BF624F 46 50,069 7,289 57,358
REF634E 43 23,449 147,455 170,904
FERRTTE 132 196,910 20,674 217,584
TR 2% 160 266,825 19,223 286,048
R 3% 252 203,294 118,786 322,080
TR 4% 200 129,600 25,341 154,941
R 5% 205 115,314 25577 140,891
TR 6% 265 177,379 48,420 225,799
R 7HE 66 37,421 29,886 67,307
TR 8% 90 37,611 35,514 73,125
R 9F 64 30,342 18,893 49,235
105 58 61,369 12,202 73571
TRI1E 50 23,210 11,661 34,871
125 40 15,972 17,992 33,964
TR13%5E 73 72,705 7,280 79,985
ER145F 40 13,494 8,048 21,542
TRR15% 69 96,933 18,242 115,175
ER16%E 28 11,490 8,479 19,969
TR175E 49 315,981 10,634 326,615
185 31 62,756 5,704 68,460
TRR194E 43 86,621 9,050 95,671
EK20%F 40 71,715 6,088 77,803
TR214E 37 42,220 7,218 49438
E22%F 31 41,775 5,255 47,030
TR23%E 60 66,581 6,160 72,741
E24%F 88 96,060 10,583 106,643
TR 254 88 127,380 15,609 142,989
265 99 94,866 32,010 126,876
TR275E 74 85,059 28,903 113,962
285 59 33,426 31,052 64,478
TR294 79 45,126 28,801 73927
EHKI0E 117 65,245 51,670 116,915
[ TE 55 92,195 13,792 105,987
S 25 55 32,405 24,732 57,137
S 3F 47 30,375 28,651 59,026
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FRR1245 1,267 1,656 2 X 2 X 63 1 68 11
FER178E 1,089 1,495 59 42 178 104 134 3 168 68
FR224% 617 905 5 4 135 82 19 1 29 10
T 2% 436 X X X 56 X X X 27 114
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FR125F 107 - 13 - - 2 - 2
174 210 27 71 3 22 4 7 0 17 X
224 64 14 29 173 6 1 4 14 4 1
SR 2% 57 17 X X 6 X 3 0.1 83 153
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